प्रति,	0 0 0				
	प्रशासकीय अधिकारी (३	शाळा),			
	– वार्ड,				
विष	<u>ाय</u> : सातव्या वेतन आयो शैक्षणिक भत्ता मिळ		रशीच्या अनुषंगाने	अनुज्ञेय असलेल्या मु	लांच्या शिक्षणाकरिता मिळणारा
संद	<u>र्भ</u> : परिपत्रक क्रमांक स	ाप्रवि/उपप्रले	(आस्था-2)/आरर्ज	ी से ल / 9 दि. 15.	10.2024 अन्वये.
	<u> এ</u>	र्जदार :			
महोद	प,				
	उपरोक्त संदर्भानसार	कर्मचाऱ्यांन	। सातव्या वेतन आर	योगाच्या अनषंगाने अ	नुज्ञेय करण्यात आलेल्या "मुलांच्या
ठािश	•			_	करिता त्याच्या लाभ मला मिळावा.
			•		_ पगरता त्याच्या राम मरागामळाचा. इत / घेतले आहेत. आणि ते पूर्णतः
_					त / यतल आहत. आणि त पूर्णतः
माझ्या	वर अवलंबून आहेत. अप	ग्रत्य / अपत्य	चा विवरण खालाल	प्रमाण आह.	
क्र.	अपत्याचे नावं	इयता	शैक्षणिक सत्र	जन्म तारीख	शाळेचे नावं
м'.	वात्रातात्र गाव	રુવલા	14112147 (1A	जन वाराज	राा∞व गाव

क्र.	अपत्याचे नावं	इयता	शैक्षणिक सत्र	जन्म तारीख	शाळेचे नावं
01					
02					

वरील सर्व माहिती पूर्णतः सत्य आहे. मी या पूर्वी शैक्षणिक भत्ता घेतला नाही. शैक्षणिक भत्ता मिळावा हि विनंती.

आपला विश्वासू नावं - श्री./श्रीम. पद – कर्मचारी संकेतांक -शाळा -पेशीट -

सोबत जोडलेली कागदपत्रे,

- P-12 तीन प्रति,
 विहित नमुन्यातील फॉर्म,
- 3) प्रतिज्ञापत्र,
- 4) मुलाचे जन्म प्रमाणपत्र झेरॉक्स प्रति,
- 5) मुलाचा आधार कार्ड झेरॉक्स प्रति,
- 5) मुलाचे शाळेचा I.CARD झेरॉक्स प्रति,
- 6) मुलाचा REPORT CARD झेरॉक्स प्रति,
- 7) राशन कार्ड झेरॉक्स प्रति,

मुख्याध्यापकांचे शेरा :-



बृहन्मुंबई महानगरपालिका – शिक्षण विभाग मुलांच्या शिक्षणाकरिता शैक्षणिक भत्ता (CHILDREN EDUCATION ALLOWANCE)

<u>प्रारूप</u>

1) कर्मचाऱ्याचे नावं	: श्री. /श्रीम.
2) कर्मचारी संकेतांक	:
3) पद	:
4) शाळेचे नावं	: - पे शीट
5) वार्ड	:
6) शैक्षणिक योग्यता	:
7) जन्म तारीख	:
8) खात्यात दाखल दिनांक	:
9) शाळेत दाखल दिनांक	:
10) खात्यात स्थायी/अस्थायी	: स्थायी
11) पूर्ण वेळ / अर्ध वेळ कर्मचारी	: पूर्ण वेळ कर्मचारी
12) मुल मनपा कर्मचाऱ्यावर पूर्णतः अवलंबून आहे किंवा नाही	: पूर्णतः अवलंबून आहे.
13) मुलांची एकूण संख्या	:
	<u>मुलांची माहिती</u>
1) मुलांचे नावं	:
जन्म तारीख	:
सध्याचे वय	: वर्ष माह
 मुलांचे नावं जन्म तारीख 	: :
सध्याचे वय	: वर्षमाह

प्रतिज्ञापत्र

(मुलांच्या शिक्षणाकरिता शैक्षणिक भत्याबाबत)

	मी.श्री./श्रीम	_ पदनाम	_ कर्म. संकेतांक –
	महानगरपालिका कर्मचाऱ्यांना सहाव्या वेत		
क्रमांक	साप्रवि/उप प्रले (आस्था -2) / आरजीसे ल / ९ दिनांव	p १५.१०.२०२४ अनुसार नव्य	गने सुरु करण्यात आले
ल्या मु	ञांच्या शिक्षणाकरिता शैक्षणिक भत्याच्या अनुज्ञेयतेसंबंध	धी खालीलप्रमाणे प्रतिज्ञापत्र	सादर करीत आहे.
	मला एकूण अपत्ये आहे.		
₹.	माझा / माझी मुलगा / मुलगी कु		
	माझ्यावर अवलंबून असून याच्या / हिच्या शैक्षणिक	••	ग्र सादर करीत असून
	प्रतिपूर्ती दाव्यामधील आलेला एकूण खर्च रु. <u>1350</u> 0		
₹.	माझा / माझी मुलगा / मुलगी कु		चा / हिचा जन्म दिनांक
	असून त्याचे / तिचे वय	_ इतके आहे.	
٧.	माझा / माझी मुलगा / मुलगी कु		
	अपंगत्वाचा प्रवर्ग असा		य / जिल्हा रुग्णालयाने
	दिलेल्या दाखल्याची प्रमाणित प्रत सोबत जोडत आ)	
५.	माझा / माझी मुलगा / मुलगी कु		हा / ही शैक्षणिक वर्ष
	करिता		या शाळेत /
	महाविद्यालयात इयता मध्ये शिकत उ	स्तून सदरची शाळा / मः	हाविद्यालय अधिकृत /
	सरकारमान्य आहे.		
६.	माझे / माझी पती / पत्नी महानगरपालिकेच्या	/ शासकीय सेवेत आहेत ,	/ नाहीत. तसेच त्यांनी
	महानगरपालिकेच्या अन्य खात्यात / शासनाच्या अन्य ख	ात्यात प्रतिपूर्ती दावा सदर के	ला आहे. नाही.
७.	प्रतिपूर्ती दाव्यामधील दर्शविण्यात आलेला खर्च परिपत्र	कामधील "मुलांच्या शिक्षणा व	र्गरेता भत्ता" मधील अट
	क्र. ८ मध्ये नमूद करण्यात आलेल्या बाबींकरिताच कर	ण्यात आला आहे. त्यात नमूत	द केलेल्या बाबी मोफत
	पुरविल्या जात नाहीत.		
८.	प्रतिपूर्ती दाव्यामधील शिक्षण शुल्क (Tution Fees) उ	ांतर्गत दर्शविलेल्या रकमेचा	फायदा मी आयकरच्या
	बचतीसाठी आयकर अधिनियम कलम 80 सी अंतर्गत ह	ोतलेले नाही आणि घेणार नाह	ही.
	रोक्त अनु.क्र. १ ते ८ मध्ये नमूद केलेली माहिती खरी व	••	,
	किद्ध खात्यांतर्गत शिस्तभंगाची कारवाई होऊ शकते तर		धिदानीत झालेली संपूर्ण
रक्कम	माझ्या वेतनामधून परस्पर वसूल करण्यात येईल याची म	ञा जाणीव आहे.	
		कर्म	चाऱ्यांची स्वाक्षरी
	0 0 0 :2 2	(कमर	वाऱ्यांचे संपूर्ण नावं)

सन्मा. प्रशासकीय अधिकारी यांचे शेरा : प्रतिज्ञा पत्रावरील अनुक्रमांक १ ते ८ बाबींचा खातर जमा करण्यात आलेली आहे. आणि कर्मचारीचे शैक्षणिक भत्ता मंजूर करण्याकरिता शिफारस करण्यात येत आहे.

			जावक क्र. :
			दिनांक ://२०
प्रती,			
मा. प्रशासकिय अधिव विभाग,	गरा (शाळा)		
ाथमाग,	विषय : शैक्षणिक भ संदर्भ:	ात्ता (सन 20 - 20) करिता पती/ पत्नी बाबत खुलासा.
मा. महोदया,			
उपरोक्त संदर्भ	र्ग अन्वये श्री./ श्रीम.		
(हुद्दा.) शाळा		
यांनी शैक्षणिक भत्ता ((सन 20 - 20) करितां दावा केले	ला आहे, त्यांचे / त्यांची पती/ पत्नी श्री./ श्री
			महानगरपालिकेच्या / शासकिय सेवेत आहे
			ाच्या अन्य खात्यात प्रतिपूर्ती दावा सादर केल
		·) करिता दावा केलेला नाही.
त्यांचे / त्यांची	ो पती/ पत्नी श्री./ श्रीम	т.	
हे महानगरपालिकेच्य	ा / शासकिय ———	_	 कार्यालयात कार्यरत आहेत. / नाहीत.
सदर	माहिती आपली माहि	हेती करिता व पुढील का	रवाई करिता सविनय सादर.
		•	

मुख्याध्यापक

MUNICIPAL CORPORATION OF GREATER MUMBAI

(EOD MAKING ADDEADSNDAVMENT AND DEDUCTION)

										(r	OK W	IAKII	NG AKI	(EAR	SNPAI	IVIEIN	I AI	עם עם	JUCI	HON)																	
	CARD CODE -P-12	NAME OF TH	IE PAY	SHEE1	Γ:																									P	AYSH	EET	COD	E:			
	(1-3)	MONTH :-																													Į	1				(4-7)	
SR.		EMPLOYEE CODE	UPDA TE	SALARY	, P/D		AN	10UNT		SALA	- 1	P/D		ΑN	10UNT		Ç	SALARY	P/D			IUOMA	ΙT		SALAR	, P/D		AMC	UNT		SALA	I P	P/D		AMO	TNUC	
NO	NAME OF EMPLOYEE		CODE	CODE		I	N RUPE	ES	PS.	СО	DE		IN	RUPE	ES	PS	S.	CODE	Ĺ		IN RU	PEES		PS.	CODE	Ĺ	IN F	RUPEES	i	PS.	CO	DE		IN	RUPEE	:S	PS.
		8-14	15	16-17	18		19-23		24-25	26-	27	28	2	29-33		34-	-35	36-37	38		39-	43		44-45	46-47	48	4	9-53		54-5	56-	-57 !	58		59-63		64-65
1			С	S 5	Р				- -																							i l					
			С																																		
			С																																		
			С																																		

			С																																							
			С																																							
			С																																							
			С			नोट	:-1)	शैक्ष	णिव	र वा	र्ष						_ य	ा का	लाव	धीत	सद	र व	र्मिच	गरी	ला इ	रौक्षा	गेक	भत्त	ा मि	ळाल	ा न	व्हत	ा व	घेत	ला	पण	नार्ह	Ì.				
			С				2)	कर्म	चान	ग्राने	नमू	द वे	लेल	या व	गल	ावर्ध	ोत ८	.WP	ਰ A	WL	रजा	उप	गभोग	ालेल	ा ना	ही																
			С				3)	प्रति	ज्ञा प	त्राद	रील	नग	रूद र	अनु	क्रमां	क १	१ ते ।	७ बा	बींच	ा ख	ातर	जम	ा क	रण्य	ात उ	आले	ली उ	गहे.														
			С				4)	सद	र देग	का	ची न	ोंद	सवि	सि व	बुक	मध्य	क	रण्या	त अ	गलेव	ती उ	भाहे.																				
			С																																							
TOTAL																																										

NOTE: 1 . THIS FORM SHOULD BE SUBMITTED DULY VERIFIED FROM THE CONCERNED ACCOUNT UNIT 2.- P: PAYMENT D: DEDUCTION PLEASE AVOID OVER WRITING & SIGN FOR ANY ALTERATION

CERTIFIED THAT THE ALLOWANCES SHOWN IN THE FORM ARE VERIFIED AS ADMISSIBLE

PREPARED BY CHECKED BY ASSISTANT ACCOUNTANT WARD/UNIT SIGNATURE OF THE OFFICER IN CHARGE (WITH RUBBER STAMP) (WITH RUBBER STAMP)

प्रति, सन्मा प्र	१.अ. महोदया (शाळा) वार्ड -						
		ांचा शिक्षणाकरि	ता भत्ता मिळणे बाबत शैक्षणिक वर्ष :	पद :-	करित	[∏] . कर्म.संके :-	
अनु.क्र	मुलांचे नाव	जन्म दि.	शाळा	इयत्ता	एकूण खर्च	कालावधी	देय रक्कम
1							
2							

एकूण देय रक्कम

	3 0 0			3 0			
नाट .	1) शैक्षणिक वर्ष	या कालावधीत सदर	क्रमनाज ला	ा जाशागिक	धना घिळाला	नत्द्रता त प्रतिला ।	ताता साह
'IIC	1) राषाां भग भग	 ना नगरानिनारा राष्ट्रर	971910101	i Kiqii Yiqi		ाष्ट्रसा व वससा	7 11 11 (7)

- 2) कर्मचाऱ्याने नमूद केलेल्या कालावधीत LWP व AWL रजा उपभोगलेला नाही
- 3) प्रतिज्ञा पत्रावरील नमूद अनुक्रमांक १ ते ८ बाबींचा खातर जमा करण्यात आलेली आहे.
- 4) सदर देयकाची नोंद सर्विस बुक मध्ये करण्यात आलेली आहे.

बृहन्मुंबई महानगरपालिका

परिपत्रक 2024-25

क्र.साप्रवि/उप प्रमुख लेखापाल (आस्था.2)/आरजीसेल/09 दि.15.10.2024

विषय : बृहन्मुंबई महानगरपालिका कामगार/कर्मचारी/अधिकारी यांना मिळणाऱ्या विविध भत्त्यांमध्ये वाढ करण्याबाबत

संदर्भ : 1) परिपत्रक क्र.उप प्र.ले./साप्रवि/आरजीसेल/29 दि.23.10.2009

- 2) परिपत्रक क्र.उप प्र.ले./साप्रवि/आरजीसेल/29 दि.05.03.2012
- 3) परिपत्रक क्र.साप्रवि/उप प्रमुख लेखापाल (आस्था.2)/आरजीसेल/02 दि.04.07.2019
- 4) परिपत्रक क्र.साप्रवि/उप प्रमुख लेखापाल (आस्था.2)/आरजीसेल/20 दि.27.01.2023
- 5) मा.महानगरपालिका आयुक्त यांची मंजूरी क्र.एमजीसी/एफ/4049 दि.26.09.2024
- 6) स्थायी समिती ठराव क्र.1064 दि.11.10.2024
- 7) शिक्षण समिती ठराव क्र.34 दि.10.10.2024
- 8) महानगरपालिका ठराव क्र.740 दि.14.10.2024 व क्र.741 दि.14.10.2024

बृहन्मुंबई महानगरपालिका कामगार/कर्मचारी/अधिकारी यांना मिळणाऱ्या विविध भत्त्यांमध्ये खाली नमूद केल्याप्रमाणे सुधारणा करण्याच्या प्रस्तावास मा.महानगरपालिका आयुक्त यांची संदर्भ क्र.5 अन्वये मंजूरी प्राप्त झाली आहे.तसेच स्थायी समिती ठराव क्र.1064 दि.11.10.2024,शिक्षण समिती ठराव क्र.34 दि.10.10.2024 व महानगरपालिका ठराव क्र.740 दि.14.10.2024 व क्र.741 दि.14.10.2024 नुसार मंजूरी प्राप्त झाली आहे.सदर भत्ते पुढीलप्रमाणे आहेत.

- 1) वाहतूक भत्ता : बृहन्मुंबई महानगरपालिका कर्मचारी/अधिकारी यांना सातव्या वेतन आयोगातील पे मॅट्रीक्स नुसार राज्य शासनाच्या धर्तीवर वाहतूक भत्त्याची सुधारणा करण्यात आली आहे.सदर बाबतचे निर्देश परिपत्रक क्र.साप्रवि/उप प्रमुख लेखापाल (आस्था.2)/आरजीसेल/20 दि.27.01.2023 अन्वये देण्यात आले आहेत.सदर भत्ता दि.01.04.2022 पासून सुधारित करण्यात आला असून अनुज्ञेय थकबाकीचे अधिदान करण्यात आले आहे.
- 2) वाहन भत्ता : बृहन्मुंबई महानगरपालिकेचे वाहन पुरिवण्यात आलेल्या अधिकाऱ्यांना वाहन भत्ता अनुज्ञेय नाही.तथापि, ज्या पदांना वाहन भत्ता अनुज्ञेय आहे अशा पदावर कार्यरत असणाऱ्या कर्मचाऱ्यांना केंद्र शासनाच्या धर्तीवर सातव्या वेतन आयोगाप्रमाणे एकाच दराने वाहन भत्ता अनुज्ञेय राहील.

स्वत:च्या मालकीच्या गाडीने (कार) केलेल्या	अन्य मार्गाने (वाहनाने) केलेल्या प्रवासासाठी (रु.)
प्रवासासाठी (रु.)	
1680/-	556/-

तसेच महागाई भत्ता 50% पेक्षा अधिक होईल तेव्हा सदर भत्त्यात 25% वाढ होईल.सदर भत्ता दि.01.09.2024 पासून सुधारित करण्यात येत आहे.मागील कालावधीची कोणतीही थकबाकी देण्यात येणार नाही.

3) रजा प्रवास सहाय्य : बृहन्मुंबई महानगरपालिका कामगार/कर्मचारी/अधिकारी यांना दोन वर्षातून एकदा रजा प्रवास सहाय्य अनुज्ञेय आहे.सदर भत्त्यामध्ये खाली नमूद केल्याप्रमाणे 50% वाढ करण्यात येत आहे.

सातव्या वेतन आयोगानुसार मूळ वेतन (रु.)	रक्कम (रु.)
27200/- पर्यंत	7875/-
27201/- ते 39100/-	9000/-
39101/- ते 42700/-	10125/-
42701/- ते 50400/-	13500/-
50401/- ते 59600/-	14625/-
59601/- आणि त्यावरील	15750/-

सदर भत्ता गट कालावधी 2024-26 पासून म्हणजेच एप्रिल 2024 पासून सुधारित करण्यात येत आहे.तसेच मागील कोणत्याही गट कालावधीची थकबाकी देण्यात येणार नाही.

4) विद्यमान - इतर भत्ते : महानगरपालिका कर्मचारी/अधिकाऱ्यांच्या विविध पदांस लागू असणाऱ्या विद्यमान भत्त्यांमध्ये सोबतच्या परिशिष्टामध्ये दर्शविल्याप्रमाणे सरसकट 100% वाढ करण्यात येत आहे.सदर भत्ते दि.01.09.2024 पासून सुधारित करण्यात येत आहे.मागील कालावधीची कोणतीही थकबाकी देण्यात येणार नाही.

सोबतच्या परिशिष्ट 'अ' मध्ये नमूद केल्यानुसार विद्यमान - इतर भत्त्यांमध्ये 100% वाढ करुन सुधारित करण्यात येत आहे.

तसेच केंद्र शासनाच्या धर्तीवरील नवीन भत्त्यांची सुधारणा पुढीलप्रमाणे करण्यात येत आहे.

5) मुलांच्या शिक्षणाकरिता भत्ता : मुलांच्या शिक्षणाकरिता देय करण्यात येणाऱ्या भत्त्याबाबतचे निर्देश वेळोवेळी निर्गमित करण्यात आलेल्या परिपत्रकांद्वारे देण्यात आलेले आहेत.सातव्या वेतन आयोगाच्या धर्तीवर बृहन्मुंबई महानगरपालिका कामगार/कर्मचारी/अधिकारी यांना मुलांच्या शिक्षणाकरिता भत्त्याची रक्कम एका मुलास जास्तीत जास्त रु.13500/- इतकी प्रतिवर्षी प्रतिपूर्ती अनुज्ञेय करण्यात आली आहे.सदर भत्ता जास्तीत जास्त 2 मुलांना अनुज्ञेय करण्यात येत असून कर्मचाऱ्यांच्या अपंग मुलांसाठी दुप्पट दराने जास्तीत जास्त रु.27000/- इतकी प्रतिवर्षी प्रतिपूर्ती अनुज्ञेय आहे.

सदर भत्ता शैक्षणिक वर्ष 2024-25 पासून सुधारित करण्यात येत आहे.मागील कालावधीची कोणतीही थकबाकी देण्यात येणार नाही.सदर भत्त्याच्या देयतेबाबत वेळोवेळी निर्गमित केलेल्या परिपत्रकात दिलेल्या निर्देशांमध्ये कोणतेही बदल करण्यात आलेले नाहीत.

6) अपंग महिला कर्मचाऱ्यांना मुलांच्या संगोपनासाठी विशेष भत्ता : 40 टक्के किंवा त्यापेक्षा जास्त अपंगत्व असणाऱ्या मिला कर्मचाऱ्यांना त्यांच्या मुलांची काळजी घेण्यासाठी मुलाच्या जन्मापासून मूल दोन वर्षांचे होईपर्यंत केंद्र शासनाच्या निर्देशाप्रमाणे दरमहा रु.3000/- विशेष भत्ता जास्तीत जास्त दोन मुलांसाठी अनुज्ञेय करण्यात आला आहे.सदर भत्ता दि.01.09.2024 पासून सुधारित करण्यात येत आहे.मागील कालावधीची कोणतीही थकबाकी देण्यात येणार नाही.

7) कुटुंब नियोजन भत्ता : सद्यस्थितीत सहाव्या वेतन आयोगामधील श्रेणी वेतनानुसार सदर भत्त्याची आकारणी करण्यात येत आहे.केंद्र शासनामध्ये सदर भत्ता दि.01.07.2017 पासून बंद करण्यात आला आहे.त्या अनुषंगाने सदर भत्ता दि.01.09.2024 पासून बंद करण्यात येत आहे.

उपरोक्त नमूद सुधारित भत्त्यांची व अनुज्ञेय थकबाकीची त्वरित अमलबजावणी करण्यात यावी.मानव संसाधन विभागाद्वारे आकारणी करण्यात आलेले भत्त्याचे दर व विद्यमान दराप्रमाणे मिळणारे भत्ते योग्य तऱ्हेने आकारले गेले असल्याची खात्री संबंधित सहाय्यक आयुक्त/खाते प्रमुख/आस्थापना कर्मचाऱ्यांनी करणे आवश्यक आहे.त्यामध्ये कोणत्याही प्रकारची त्रूटी आढळल्यास अथवा देय नसलेला भत्ता चूकीने दुसऱ्या प्रवर्गास आकारला गेल्याचे निदर्शनास आल्यास त्याबाबत योग्य ती माहिती/कार्यवाही मानव संसाधन कार्यप्रणालीत पुढील महिन्याच्या इनपुट द्वारे भरण्यात यावी जेणेकरुन कोणत्याही प्रकारे अतिरिक्त अथवा चूकीचे अधिदान होणार नाही.

सर्व सहाय्यक आयुक्त/खाते प्रमुख यांना याद्वारे विनंती करण्यात येते की,वरील सुचनांप्रमाणे कार्यवाही करण्याचे आदेश त्यांच्या अखत्यारीतील संबंधित आस्थापना कर्मचाऱ्यांना द्यावेत.

सदर परिपत्रकाची प्रत महानगरपालिकेच्या http://mybmcemp.mcgm.gov.in या संकेतस्थळावर Circular/HR Circulars/GAD/Dy.C.A.Estt./Rgcell येथे उपलब्ध आहे

> सही/- दि.15.10.2024 श्रीम.वैशाली देसाई उप प्रमुख लेखापाल (आस्था.2)

सही/- दि.15.10.2024 श्री.किशोर गांधी उप आयुक्त (सामान्य प्रशासन)

सही/- दि.15.10.2024 डॉ.अश्विनी जोशी अतिरिक्त महानगरपालिका आयुक्त (शहर) सही/- दि.15.10.2024 श्री.सुनिल जाधव प्रमुख लेखापाल (वित्त)

सही/- दि.15.10.2024 श्री.प्रशांत गायकवाड उप आयुक्त (वित्त)

सही/- दि.15.10.2024 श्री.अभिजीत बांगर अतिरिक्त महानगरपालिका आयुक्त (प्रकल्प)

सही/- दि. श्री.भूषण गगराणी मा.महानगरपालिका आयुक्त

> परिपत्रक 2024-25

क्र.साप्रवि/उप प्रमुख लेखापाल (आस्था.2)/आरजीसेल/09 दि.15.10.2024

-- यांना (----- ज्यादा प्रतींसह) माहितीसाठी आणि आवश्यक त्या कार्यवाहीकरिता रवाना.

उप प्रमुख लेखापाल (आस्था.2) यांजकरिता

	Other Allowances		Annexure - A
Sr. No.		Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
	ning Charges - Code 27		
1.1	1. Labour staff	115/• p.m.	230/- p.m.
	2. Nursing Staff	150/- p.m.	300/- p.m.
	3. Fire Brigade Labour staff and VIP Car Drivers.	180/ - p.m.	360/- p.m.
	Fire Brigade Officers and Officers working in the Security Deptt.	225/- p.m.	450/- p.m.
2. Uncle	ean Work Allowance - Code 26		
2.1	Labour, Sweeper, Halalkhore, Motor Loader, Drain Cleaner	300/- p.m.	600/- p.m.
	Scavenger, Sweeper, Motor Loader Conservancy Deptt., Drain Cleaner, Mukadam, Mali-cum-sweeper.	190/- p.m.	380/- p.m.
	3. Same categories at Sr.No.1 above	Rs 15/- per day subject to a maximum of Rs 375/- p.m.	
	4. Same categories at Sr.No.2 above	Rs.8/- per day subject to max, Rs.190/- p.m.	Rs.16/- per day subject to max, Rs.380/- p.m.
	5. Store Asstt., Store Attendant & Labour of Dy. Ch. E (Stores)	150/- p.m.	300/- p.m.
3. Nutri	tious Diet Allowance - Code C6		
3.1	Peons, Time Keeper, Staff Nurse, Security Guards, Pharmacists, Mali, Labourers working in GTB/Kasturba Hospitals.	190/- p.m.	380/- p.m.
4. Unifo	rm Allowance - Code 35		
4.1	Matron, Matron-II/III, Sr. Asstt. Matron, Jr. Asstt. Matron, Theatre Supdt., Sister, Staff Nurse, Aux. Nurse, Student Nurse.	340/- p.m.	680/- p.m.
	2. Sister Tutor, Asstt. Sister Tutor/Public Health Nurse, House Keeper, Ward Assistant, Theatre Asstt., Health Visitors, School Clinic Organizer, Asstt. School Clinic Organizer, Aux. Nurse(Mid-wife), doing the work of H.V.	300/- p.m.	600/- p.m.
1. Perso	nal Pay Consolidated - Code No. 01		
1.1	Kasturba Hospital/GTB Hospital and T.B. Clinics		
	The Nursing staff working in infectious diseases, hospitals, T.B. hospitals, T.B. clinics, T.B. Wards etc.	150/- p.m.	300/- p.m.

Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
2. Lepr	osy Allowance – Code Sup 12 & Lab.13		
2.1	Leprosy Allowance –		
	Laboratory Assistant	75/- p.m.	150/- p.m.
	Peon	75/- p.m.	150/- p.m.
	Head Cook	75/- p.m.	150/- p.m.
	Cook mate	75/- p.m.	150/- p.m.
	Cook mate	75/- p.m.	150/- p.m.
	Registration Assistant	150/- p.m.	300/- p.m.
	Lab. Asstt.	150/- p.m.	300/- p.m.
	Administrative Officer	190/- p.m.	380/- p.m.
3. SPEC	CIAL ALLOWANCE - Code No. for Sup	o. 14 & for Labour 15	
3.1	The Categories in receipt of Special Pay of Rs.40/- p.m. to Typist , Stenographers , etc. (All Departments)	150/- p.m. as Allowance	300/- p.m.
3.2	The categories in receipt of Special Pay of Rs.20/- p.m. to Clerk-cum-Typist, etc. (All Departments)	75/- p.m. as Allowance	150/- p.m.
3.3	Special pay for maintaining Imprest Account – Executive Assistant (All Departments)		
	Upto Rs.5000/-	Nil	Nil
	Rs.5001 & upto Rs.15000/-	150/- p.m. as Allowance	300/- p.m.
	Rs.15001 & upto Rs.30000/-	190/- p.m. as allowance	380/- p.m.
	Over 30000	225/- p.m. as allowance	450/- p.m.
3.4	Special Pay for handling cash Executvie Assistants/Cash Receiving Clerks who are in receipt of Special Pay for handling cash at cash receiving section.	225/- p.m. as Allowance	450/- p.m.
157	Special Pay for operating Duplicating Machine/Cyclostyling Machine Peon or any other employee who are in receipt of Spl. Pay/Spl. Allowance/ Duplicating Machine Allowance/Duty Allowance/ Cyclostyling Allowance etc., for working on duplicating machine. (All Departments)	75/- p.m. as Allowance	150/- p.m.
	Special Allowance for the work of disbursement of salaries to the Labour Staff. (C.A. & C.A (WSSD)'s deptt)		
	Jr.Paymasters/Jr.A.& A.A.	340/- p.m. as allowance	680/- p.m. as Allowance
	Paymasters.	415/- p.m. as allowance	830/- p.m. as Allowance



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
3.7	Municipal Secretary's Department		(,)
	1) Sr.Secretarial Assistant	375/- p.m. as allowance	750/- p.m.
	2) Personal Assistant, Junior to	825/- p.m. as allowance	1650/- p.m.
	Chairman, (Special Committees)		1000; p.m.
	3) Jr.Secretarial Assistant	750/- p.m. as allowance	1500/- p.m.
	4) Head Jamadar	900/- p.m. as allowance	1800/- p.m.
	5) Head Jamadar	750/- p.m. as allowance	1500/- p.m.
	6) Head Jamadar	1125/- p.m. as allowance	2250/- p.m.
	7) Havildar	750/- p.m. as allowance	1500/- p.m.
	8) Naik	750/- p.m. as allowance	1500/- p.m.
	9) Peon	750/- p.m. as allowance	1500/- p.m.
3.8	Municipal Chief Auditor's Department		
	1) Head Jamadar	640/- p.m. as allowance	1280/- p.m.
	2) Jamadar	340/- p.m. as allowance	680/- p.m.
	3) Jamadar	300/- p.m. as allowance	600/- p.m.
	4) Havildar	340/- p.m. as allowance	680/- p.m.
	5) Naik	340/- p.m. as allowance	680/- p.m.
3.9	M.C.'s deptt.		
	1) Jr.Insp.(O & M O)(M.C.)	450/- p.m. as allowance	900/- p.m.
	2) Head Clerk	415/- p.m. as allowance	830/- p.m.
	3) Head Jamadar	900/- p.m. as allowance	1800/- p.m.
	4) Jamadar	750/- p.m. as allowance	1500/- p.m.
	5) Havildar	750/- p.m. as allowance	1500/- p.m.
	6) Naik	750/- p.m. as allowance	1500/- p.m.
	7) Peon	750/- p.m. as allowance	1500/- p.m.
3.10	Chief Acctt's deptt.		
	1) Jr. Inspector (Vig.) (O.& M.O.)	450/- p.m. as allowance	900/- p.m.
	Sr.Audit & Accounts Assistant/Head Clerk	340/- p.m. as allowance	680/- p.m.
	3) Head Clerk	340/- p.m. as allowance	680/- p.m.
	4) Jr. Audit & Accounts Assistant/ Executive Assistant	180/- p.m. as allowance	360/- p.m.
	5) Head Stock Verifier	340/- p.m. as allowance	680/- p.m.
	6) Stock Verifier	225/- p.m. as allowance	450/- p.m.
	7) Money Tester	75/- p.m. as allowance	150/- p.m.
3.11	Public Relation Officer's Deptt.		
	1) Administrative Officer	450/- p.m. as allowance	900/- p.m.
	2) Photographer-cum-Dark Room Assistant	375/- p.m. as allowance	750/- p.m.
3.12	Chief Officer Enquiry deptt.		
	1) Investigation Officer (Enquiry)	450/- p.m. as allowance	900/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
3.13	A & C's deptt.		
	1) Head Clerk	340/- p.m. as allowance	680/- p.m.
	2) Executive Assistant	150/- p.m. as Allowance	300/- p.m.
	3) Cash Receiving Clerk	150/- p.m. as Allowance	300/- p.m.
	4) Executive Assistant	300/- p.m. as allowance	600/- p.m.
	5) Draftsman	115/- p.m. as allowance	230/- p.m.
	6) Havildar	45/- p.m. as allowance	90/- p.m.
	7) Peon	75/- p.m. as allowance	150/- p.m.
	8) Peon	180/- p.m. as allowance	360/- p.m.
3.14	Octroi Deptt.		
	Supervising Inspector (Vigilance Squad)	225/- p.m. as allowance	450/- p.m.
	2) Inspector (Vigilance Squad)	150/- p.m. as Allowance	300/- p.m.
	3) Marker	75/- p.m. as allowance	150/- p.m.
	4) Peon	75/- p.m. as allowance	150/- p.m.
3.15	Legal Deptt.		
	1) Head Clerk	340/- p.m. as allowance	680/- p.m.
	2) Executive Assistant	340/- p.m. as allowance	680/- p.m.
	3) Warrant Clerk	180/- p.m. as allowance	360/- p.m.
3.16	Conservancy Deptt.		
	1) Supervisor	150/- p.m. as allowance	300/- p.m.
	2) Jr. Overseer	150/- p.m. as allowance	300/- p.m.
3.17	City Engineers' Department		
	1) Telephone Operator 'A' Grade	450/- p.m. as allowance	900/- p.m.
	Telephone Operator 'A' Grade working at Head Office	225/- p.m. as allowance	450/- p.m.
	3) Technical Time Keeper/Time Keeper	265/- p.m. as allowance	530/- p.m.
		It is agreed to absorb timekeeper in clerical cadre after 15 years of service as a timekeeper. Timekeeper will draw allowance till he completes 15 years of service or absorbed in the clerical cadre whichever is earlier	It is agreed to absorb timekeeper in clerical cadre after 15 years of service as a timekeeper. Timekeeper will draw allowance till he completes 15 years of service or absorbed in the clerical cadre whichever is earlier
	4) Blue Copy Printer (EEBP/Estate/EETP) 5) Draughtsman	75/- p.m. as allowance	150/- p.m. 150/- p.m.
3.18	Garden Deptt.		
	1) Asstt.Head Animal Keeper	75/- p.m. as allowance	150/- p.m.
	2) Camel Keeper	75/- p.m. as allowance	150/- p.m.
	3) Camel Leader	75/- p.m. as allowance	150/- p.m.
	4) Elephant Keeper	75/- p.m. as allowance	150/- p.m.
	5) Horse Syce	75/- p.m. as allowance	150/- p.m.
	6) Veterinary Dresser	75/- p.m. as allowance	150/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
3.19	Market Deptt.		
	1) Peon	150/- p.m. as allowance	300/- p.m.
3.20	Traffic Deptt.		* ************************************
	1) Sr.Supervisor (Traffic)	340/- p.m. as allowance	680/- p.m.
	2) Jr. Supervisor (Traffic)	225/- p.m. as allowance	450/- p.m.
3.21	Municipal Printing Press		
	1) Guillotineman	190/- p.m. as allowance	380/- p.m.
	2) Pressman Sr. (Handfed Machine)	190/- p.m. as allowance	380/- p.m.
	3) Binder Sr. (Mina Binda Machine)	190/- p.m. as allowance	380/- p.m.
	4) Sr. Binder	190/- p.m. as allowance	380/- p.m.
3.22	Rota Printing Press		
	1) Machineman	115/- p.m. as allowance	230/- p.m.
	2) Sr. Binder	190/- p.m. as allowance	380/- p.m.
	3) Guillotinemen	190/- p.m. as allowance	380/- p.m.
3,23	E. E. T.		
	1) Jr. Engineer	150/- p.m. as Allowance	300/- p.m.
	2) Driver	1500/- p.m. as allowance	3000/- p.m.
	3) Buldozer Operator	75/- p.m. as allowance	150/- p.m.
	4) Mechanic	75/- p.m. as allowance	150/- p.m.
	5) Fitter	75/- p.m. as allowance	150/- p.m.
	6) Cleaner	45/- p.m. as allowance	90/- p.m.
3.24	Dy.Chief Engineer (Slum Imp.)		
	1) Sr.Colony Officer	450/- p.m. as allowance	900/- p.m.
	2) Colony Officer	415/- p.m. as allowance	830/- p.m.
3.25	Health Department		
	1) Head Clerk	225/- p.m. as allowance	450/- p.m.
	2) Jr. Overseer (Kennel)	75/- p.m. as allowance	150/- p.m.
3.26	Municipal Analyst's Department		
	1) Assistant Analysist	225/- p.m. as allowance	450/- p.m.
	2) Assistant Chemist	150/- p.m. as allowance	300/- p.m.
	3) Assistant Bacteriologist	150/- p.m. as allowance	300/- p.m.
3.27	Insecticide Officer		F
	1) Supervisor (Fogging)	225/- p.m. as allowance	450/- p.m.
	2) Sub Insp. (Fogging)	225/- p.m. as allowance	450/- p.m.
	3) Labourer (Fogging)	225/- p.m. as allowance	450/- p.m.
3.28	Immunization Programme and		*
	Multipurpose Workers Scheme		
	1) Multi purpose work Inspector (N.Q.)	180/- p.m. as allowance	360/- p.m.
3.29	Municipal Maternity Homes Div.I, II		
	<u>& III</u>		
	1. Hamal	75/- p.m. as allowance	150/- p.m.
.30	K.E.M. Hospital/BYL Nair/ L.T.M.G.		
	Hosp.		
	1) Executive Assistant	115/- p.m. as allowance	230/- p.m.
	2) Theatre Superintendent	265/- p.m. as allowance	530/- p.m.
	3) Hamal	75/- p.m. as allowance	150/- p.m.
	4) Sweeper	75/- p.m. as allowance	150/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
3.31	L.T.M.G. Hospital		(v)
	1) Executive Assistant	115/- p.m. as allowance	230/- p.m.
	2) Teacher for Deaf & Dumb	225/- p.m. as allowance	450/- p.m.
	3) Teacher for Deaf & Dumb	150/- p.m. as allowance	300/- p.m.
	4) Operation Theatre Supdt.	265/- p.m. as allowance	530/- p.m.
	5) Ward Assistant	180/- p.m. as allowance	360/- p.m.
	6) Dresser	115/- p.m. as allowance	230/- p.m.
3.32	B.Y.L.Nair Ch.Hospital	pini do dilovidico	250/- p.m.
	1) Executive Assistant	115/- p.m. as allowance	230/- p.m.
	2) Lecturer-cum-Speech-Theatre- cum- Teacher for Deaf	300/- p.m. as allowance	600/- p.m.
	Teacher for Deaf - For trained Teachers	225/- p.m. as allowance	450/- p.m.
	- For untrained Teachers	150/- p.m. as allowance	300/- p.m.
	4) Theatre Superintendent	265/- p.m. as allowance	530/- p.m.
	5) Ward Assistant	180/- p.m. as allowance	360/- p.m.
	6) Peon	180/- p.m. as allowance	360/- p.m.
3.33	Kasturba Hospital		
	1) Hamal	75/- p.m. as allowance	150/- p.m.
	2) Peon	45/- p.m. as allowance	90/- p.m.
3.34	G.T.B. Hospital		
	1) Ward Assistant	180/- p.m. as allowance	360/- p.m.
3.35	E.N.T. Hospital		
	1) Pharmacist	225/- p.m. as allowance	450/- p.m.
3.36	N.H.D. College		
	1) Sweeper	75/- p.m. as allowance	150/- p.m.
	Octroi Department		
	1) Dy.Superintendent	150/- p.m. as allowance	300/- p.m.
	2) Supervisory Inspector (Vig.)	150/- p.m. as allowance	300/- p.m.
	3) Head Clerk	150/- p.m. as allowance	300/- p.m.
	4) Inspector	115/- p.m. as allowance	230/- p.m.
	5) Executive Assistant	115/- p.m. as allowance	230/- p.m.
	6) Marker	75/- p.m. as allowance	150/- p.m.
	7) Scavenger	75/- p.m. as allowance	150/- p.m.
+	8) Halalkhore	75/- p.m. as allowance	150/- p.m.
-	9) Peon	75/- p.m. as allowance	150/- p.m.
	10)Hamal	75/- p.m. as allowance	150/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
	BUDGET 'G'		
3.38	M.C.A.'s Department		
	1) Havildar	340/- p.m. as allowance	680/- p.m.
	2) Naik	340/- p.m. as allowance	680/- p.m.
3,39	Data Processing Unit		
	Sr.Computer Operator	300/- p.m. as allowance	600/- p.m.
	2) Job Control Supervisor	300/- p.m. as allowance	600/- p.m.
	3) Job Control Assistant	300/- p.m. as allowance	600/- p.m.
	4) Shift Leader	300/- p.m. as allowance	600/- p.m.
	5) Computer Operator	300/- p.m. as allowance	600/- p.m.
	6) Technical Assistant	190/- p.m. as allowance	380/- p.m.
	7) Punch Operator	190/- p.m. as allowance	380/- p.m.
3.40	Project Planning & Control Cell	P	300/ p.m.
	1) Head Clerk	750/- p.m. as allowance	1500/- p.m.
3.41	Chief Engineer (Common Services)'s	p do direvidice	1500/- p.m.
	Deptt.		
	1) Telex Operator	225/- p.m. as allowance	450/- p.m.
3.42	Dy.H.E.(E.S.)/Dy.Ch.E.(WSP)/	p.iii. us uno wanec	430/- p.m.
	Dy.Ch.E.(SO)/ P & D/		
	Dy.Ch.E.(O.P.)/E.E.T.(TCE)		
	1) Blue Copy Printer	75/- p.m. as allowance	150/- p.m.
3.43	All Engineering Departments Under	p.m. as anowance	150/- p.m.
	Budget "G"		
	1) Time Keeper	265/- p.m. as allowance	530/- p.m.
		It is agreed to absorb	It is agreed to absorb
		timekeeper in clerical cadre	
		after 15 years of service as	after 15 years of service as
		a time-keeper. Timekeeper	a time-keeper. Timekeeper
		will draw allowance till he	will draw allowance till he
		completes 15 years of	completes 15 years of
		service or absorbed in the	service or absorbed in the
		clerical cadre whichever is	clerical cadre whichever is
		earlier	earlier
	D. CLE. (C. O.)		
	Dy.Ch.Engr. (Sew.Op.)		
	1) Jr.Engineer/Overseer	150/- p.m. as allowance	300/- p.m.
	A.E.D.Control/A.E.W.W.		
	Kapurbawadi	<u></u>	
	1) Overseer/Jr.Engineer	225/- p.m. as allowance	450/- p.m.
	Dy.Chief Engineer (O & M) L.G.P.		
-	1) Shift Engineer	150/- p.m. as allowance	300/- p.m.
	2) Shift Engineer	150/- p.m. as allowance	300/- p.m.
3.47	Dy.Hydraulic Engineer (Operations)		
	1) Jr. Engineer	225/- p.m. as allowance	450/- p.m.
-	2) Teacher	375/- p.m. as allowance	750/- p.m.
	3) Teacher	300/- p.m. as allowance	600/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
3.48	Education Department		
	1) The categories who are in receipt of Special Allowance of Rs.150/- for doing typing work.	225/- p.m. as allowance	450/- p.m.
	2) The categories who are in receipt of Special Allowance of Rs.75/- for doing substantial typing work.	115/- p.m. as allowance	230/- p.m.
	 Special Allowance for the work of disbursement of salaries to the labour staff. 		
	Pay Master (D.A.E.F.)	415/- p.m. as allowance	830/- p.m.
	Jr. Pay Master (D.A.E.F.)	340/- p.m. as allowance	680/- p.m.
	4) Field Organiser (Scout & Guide)	525/- p.m. as allowance	1050/- p.m.
	5) Special Teacher	300/- p.m. as allowance	600/- p.m.
	6) Craft Teacher	300/- p.m. as allowance	600/- p.m.
	7) Special Teacher (Physical Edu.)	300/- p.m. as allowance	600/- p.m.
	8) Trained Teacher	300/- p.m. as allowance	600/- p.m.
	9) Trained Teacher	300/- p.m. as allowance	600/- p.m.
	10) Trained Teacher	300/- p.m. as allowance	600/- p.m.
	11) Peon	75/- p.m. as allowance	150/- p.m.
	12) Peon	75/- p.m. as allowance	150/- p.m.
3.49	D.M.P. & CCRS & Communication		
	<u>Department</u>		
	1) Dy.Ch.Officer (D.M.P. & CCRS)	1015/- p.m. as allowance	2030/- p.m.
4. Specia	al Allowance being paid on day basis		
4.1	Peon (Licence Deptt.)	Rs. 15/- per day	Rs.30/- per day
4.2	Projectionist (Welfare Centre)	Rs. 150/- per day	Rs.300/- per day
4.3	Labourer (PT) (Welfare Centre)	Rs. 60/- per day	Rs.120/- per day
4.4	All Labour Staff working at Asphalt Plant	Rs. 5/- per day	Rs.10/- per day
4.5	Rat Bigari - Reward for catching rats in excess of rats fixed.	40 paise per rat in excess of norm	80 paise per rat in excess of norm
4.6	Rat Bigari - For attending the duties as Motor Attendant in absence.	Rs. 5/- per day	Rs.10/- per day
	Dog Catcher (H.O.'s Deptt.) - Reward for catching dogs in excess of the average nos. fixed.	Rs. 0.75 per dog	Rs.1.50 per dog
4.8	Any member of the staff - For attending the work of Telephone Operator during casual absence of Telephone Operator.	Rs.8/- per hour max Rs.40/- per day	Rs.16/- per hour max Rs.80/- per day
	Resident Nursing Staff (Hospitals, Mat. Homes etc.)	Rs.15/- per day	Rs.30/- per day



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
	onal Allowance - Code No. Superior 16, I		(4)
	Duty Allowance	1	
5.1	Education Department		
	Peon	150/- p.m.	300/- p.m.
		Make it Personal	Make it Personal
		Allowance	Allowance
5.2	Dy.Chief Accountant (E.F.)	Allowance	Allowance
	Assistant Cashier	265/- p.m.	£20/
	1 issistant Casino		530/- p.m.
5.3	Technical Aid Centre	As Allowance	
J.J	Compositor Senior	100/ 411	2601
6 Nich	Duty Allowance – Code 28	180/- p.m. as Allowance	360/- p.m.
6.1		40/	201
0.1	Sub Engineer, Sr.Inspector (Licence)	40/- per night	80/- per night
	2. Jr.Engineer, Store Keeper, Time	25/- per night	50/- per night
	Keeper, Overseer	Por angua	oor per ingit
	3. Technical Time Keeper, Jr.Insp.	15/- per night	30/- per night
	(licence), Drainage Asstt.	por angua	50, per mgm
	4. Mistry, Driver, Mechanic, Driver	15/- per night	30/- per night
	Mechanic, Fitter,	P	oo, per ingit
	5. Painter, Mukadam, Carpenter, Mason,	15/- per night	30/- per night
	Fitter Labourer	Pro mgm	or per might
7. Comp	ensatory Allowance - Code 29		
7.1	Where the Pay do not exceed	225/- p.m.	450/- p.m.
	Rs.27500/-	P	100/- p.m.
	2. Where the Pay is in excess of	450/- p.m.	900/- p.m.
	Rs.27500/- do not exceed Rs.34400/-	F	p.m.
	3. Where the Pay is in excess of	750/- p.m.	1500/- p.m.
	Rs.34400/- do not exceed Rs.40600/-	P.III.	1000/- p.iii.
	4. Where the Pay is in excess of	1050/- p.m.	2100/- p.m.
	Rs.40600/- do not exceed Rs.61100/-	7000, p.m.	2100/- p.m.
	5. Where the Pay is in excess of	1125/- p.m.	2250/- p.m.
	Rs.61100/- do not exceed Rs.64300/-	1120/ p.m.	2250/- p.III.
	6. Where the Pay is in excess of	1350/- p.m.	2700/- p.m.
	Rs.64300/- do not exceed Rs.73700/-	P.M.	2700/- p.m.
	7. Where the Pay is above Rs.73700/-	1500/- p.m.	3000/- p.m.
	J 1001 1001	1000/ P.III.	3000/- p.III.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
	Allowance - Code No.30		
8.1	Payment of Duty Allowance for operating Zerox Machine		
	The categories such as Peon, Havildar, Helper etc., who are in receipt of Duty Allowance for operating Zerox Machine.	150/- p.m.	300/- p.m.
8.2	Duty Allowance for operating water		
	pumps 1:1 : : : : : : : : : : : : : : : : :		
	The category which are in receipt of Duty Allowance, Special Allowance, Pumping Allowance, Extra Allowance, etc. for operating water pumps in addition to		
	their normal duty.		
	For 2 hours per day.	265/- p.m.	530/- p.m.
	For more than 2 hours but less than 3	300/- p.m.	600/- p.m.
	hours per day.		p.m.
	For more than 3 hours per day.	375/- p.m.	750/- p.m.
.3	Duty Allowance to Telephone	225/- p.m.	450/- p.m.
	Operator		
	The Telephone Operator 'A' Grade and		
	'B' Grade who are in receipt of Duty		
	Allowance for working 8 hours duty		
	instead of 7 hours at various hospitals		
	and departments.		
.4	Duty Allowance for B.C.G. work	150/- p.m.	300/- p.m.
	To the Nursing staff who are in receipt of		p.m.
	Duty Allowance/B.C.G.Allowance or any		
	other allowance for attending work at		
	various Hospitals/Maternity Homes/		
	Dispensaries.		
.5	M.C.'s office Establishment		
	1) Executive Assistant	150/- p.m.	300/- p.m.
.6	Museum	. Variable, in the	
	1. Peon	150/- p.m.	300/- p.m.
	2. Technical Assistant	180/- p.m.	360/- p.m.
	3. Peon	75/- p.m.	150/- p.m.
7	Legal Department		130/ P.III.
1	Managing Clerk/Assistant Managing	225/- p.m.	450/- p.m.
	Clerk	2207 p.m.	→30/- p.III.
	2. Sr.Court Clerk	225/- p.m.	450/- p.m.
-	3. Court Clerk	150/- p.m.	300/- p.m.
	4. Executive Assistant	150/- p.m.	300/- p.m.
-	5. Peon	75/- p.m.	
	Municipal Secretary's Department	75/* p.m.	150/- p.m.
	1) Municipal Secretary	2250/	45001
) manioipai booletaly	2250/- p.m.	4500/- p.m.

Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
8.9	Chief Accountant's Department		
	1. Accounts Officer	1125/- p.m.	2250/- p.m.
	2. Assistant Cashier	300/- p.m.	600/- p.m.
	3. Assistant Cashier (E.S.& W.S.)	150/- p.m.	300/- p.m.
	4. Assistant Cashier	450/- p.m.	900/- p.m.
	5. Naik	150/- p.m.	300/- p.m.
	6. Record Attendant	150/- p.m.	300/- p.m.
	7. Peon	75/- p.m.	150/- p.m.
	8. Peon	150/- p.m.	300/- p.m.
8.10	A & C's Department		
	1. Asstt. Superintendent	450/- p.m.	900/- p.m.
8.11	Octroi Department		200, p.m.
	1. Supdt.	750/- p.m.	1500/- p.m.
	2. Asstt. A & C	900/- p.m.	1800/- p.m.
	3. Executive Assistant	300/- p.m.	600/- p.m.
8.12	Garden Department		p.m.
	Mali/Labourer	525/- p.m.	1050/- p.m.
8.13	Swimming Pools		Too Pint.
	1. Supervisor	150/- p.m.	300/- p.m.
	2. Filter Operator	150/- p.m.	300/- p.m.
	3. Labourer	150/- p.m.	300/- p.m.
	4. Filter Supervisor	150/- p.m.	300/- p.m.
	5. Assistant Operator	150/- p.m.	300/- p.m.
	6. Chief Coach	150/- p.m.	300/- p.m.
	7. Fitter-I	150/- p.m.	300/- p.m.
8.14	C.E.'s Department	F	p.m.
	Executive Assistant	225/- p.m.	450/- p.m.
8.15	Conservancy Department	- Pinne	7007 p.m.
	Motor Loader	225/- p.m.	450/- p.m.
	2. Halalkhore	225/- p.m.	450/- p.m.
8.16	Dog Licence Department	The second secon	p.iii.
	1. Dog Catcher	225/- p.m.	450/- p.m.
8.17	G.M.D.A.	F	, p.m.
	Executive Assistant	225/- p.m.	450/- p.m.
	2. Peon	75/- p.m.	150/- p.m.
3.18	B.Y.L.Nair, K.E.M., L.T.M.G.		Pinn.
	Hospitals		
	Executive Assistant	115/- p.m.	230/- p.m.
3.19	Health Department		
	Dispensaries		
	1. Dresser-I	300/- p.m.	600/- p.m.
.20	Allopathic Dispensaries		, p
	Medical Officer	1125/- p.m.	2250/- p.m.
	2. Pharmacist	450/- p.m.	900/- p.m.
-	3. Dresser-I	300/- p.m.	600/- p.m.
-	4. Peon/Labourer	225/- p.m.	450/- p.m.
	Health Department	Pinn,	100/- p.m.
P	1. Dog Catcher	30/- p.m.	60/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
8.22	Education Department		
	Projectionist	750/- p.m.	1500/- p.m.
8.23	Duty Allowance to those labourers working in Insecticide Officer's Deptt.	150/- p.m.	300/- p.m.
	Budget 'G'		
8.24	Engineering Deptt. under Budget 'G'		
	The Telephone Operators who are in receipt of Duty Allowance for working 8 hours duty instead of 7 hours.	225/- p.m.	450/- p.m.
8.25	Chief Engineer (C.S.)		
	Asstt. Machine Operator	75/- p.m.	150/- p.m.
8.26	Data Processing Unit		
	Punch Operator	150/- p.m.	300/- p.m.
8.27	Chief Accountant's (WSSD).		
	Peon	150/- p.m.	300/- p.m.
8.28	Dy.H.E.(Operation)		
	Tansa-Vaitarana office Peon/Any other category of labour staff	375/- p.m.	750/- p.m.
8.29	All Chlorination Plants & Reservoirs in Water Works Department		
	1) Laboratory Asstt.	45/- p.m.	90/- p.m.
	2) Foreman (A.E.Maint.W.W.E.S.)	45/- p.m.	90/- p.m.
	3) Foreman (A.E.W.W.Panjarapur)	45/- p.m.	90/- p.m.
	4) Foreman, Mulund (HPL)	45/- p.m.	90/- p.m.
	5) Foreman Chlorine	45/- p.m.	90/- p.m.
	6) Dresser	45/- p.m.	90/- p.m.
	7) Mechanic	45/- p.m.	90/- p.m.
	8) Operator	150/- p.m.	300/- p.m.
	9) Fitter	45/- p.m.	90/- p.m.
	10) Fitter-I	45/- p.m.	90/- p.m.
	11) Fitter-II	45/- p.m.	90/- p.m.
	12) Fitter-III	45/- p.m.	90/- p.m.
	13) Electrician	45/- p.m.	90/- p.m.
	14) Engine Driver	45/- p.m.	90/- p.m.
	15) Cleaner	45/- p.m.	90/- p.m.
	16) Mistry-II	45/- p.m.	90/- p.m.
	17) Porter	45/- p.m.	90/- p.m.
	18) Navghani	45/- p.m.	90/- p.m.
	19) Mali	45/- p.m.	90/- p.m.
	20) Pump Operator	45/- p.m.	90/- p.m.
	21) Labourer-cum-Watchman	150/- p.m.	300/- p.m.
	22) Labourer	150/- p.m.	300/- p.m.
	23) Helper	45/- p.m.	90/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
8.30	Hydraulic Engineer's Department		,
	1) Asstt. Engineer	900/- p.m.	1800/- p.m.
	2) Sub Engineer	600/- p.m.	1200/- p.m.
8.31	Executive Assistant (All Departments)	Rs. 15/- per day	Rs. 30/- per day
8.32	Peon (C.A.)	Rs. 5/- per day subject to maximum Rs 115/- p.m.	Rs.10/- per day subject to maximum Rs.230/- p.m.
8.33	Security Guard (Ch.S.O.)	Rs. 5/- per day subject to maximum Rs 115/- p.m.	Rs.10/- per day subject to maximum Rs.230/- p.m.
8.34	Labour (Licence Deptt.)	Rs. 8/- per day	Rs.16/- per day
8.35	Peon (Curator of Museum Deptt.)	Rs.15/- per day	Rs.30/- per day
8.36	Executive Assistants/Jr.A.& A.A.	Rs.40/- per day	Rs.80/- per day
8.37	Executive Assistants/Jr.A.& A.A.	Rs.15/- per day	Rs.30/- per day
8.38	Drivers (Transport Deptt.)	Rs.15/- per shift. If he works in 2nd shift he will be paid Rs.30/- per shift, subject to maximum of Rs.450/- per month	Rs.30/- per shift. If he works in 2nd shift he will be paid Rs.60/- per shift, subject to maximum of Rs.900/- per month
8.39	Cleaners (Transport Deptt.)	Rs.8/- per shift. If he works in 2nd shift he will be paid Rs.15/- per shift subject to maximum of Rs.300/- per month	Rs.16/- per shift. If he works in 2nd shift he will be paid Rs.30/- per shift subject to maximum of Rs.600/- per month
8.40	Octroi Department		1
	1. Marker	Rs.30/- per day	Rs.60/- per day
	2. Supervising Inspector	Rs.70/- per day	Rs.140/- per day
	3. Inspector	Rs.45/- per day.	Rs.90/- per day
9. EXT	RA ALLOWANCE - CODE NO. 38	per day.	res.507- per day
9.1	Pharmacist entrusted with additional work During the normal working hours such as		
	attending other dispensaries or maternity homes, etc.		
	Upto 4 hours	150/- p.m.	300/- p.m.
	Above 4 hours to 6 hours	180/- p.m.	360/- p.m.
	Above 6 hours to 8 hours	225/- p.m.	450/- p.m.
	Above 8 hours to 10 hours	265/- p.m.	530/- p.m.
	Above 10 hours to 12 hours	300/- p.m.	600/- p.m.
	Above 12 hours	450/- p.m.	900/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
9.2	Pharmacist entrusted with additional		
	work		
	After normal duty hours.		
	Upto 4 hours	180/- p.m.	360/- p.m.
	Above 4 hours to 6 hours	265/- p.m.	530/- p.m.
	Above 6 hours to 8 hours	340/- p.m.	680/- p.m.
	Above 8 hours to 10 hours	450/- p.m.	900/- p.m.
	Above 10 hours to 12 hours	525/- p.m.	1050/- p.m.
	Above 12 hours	750/- p.m.	1500/- p.m.
9.3	Peripheral Hospitals		
	1. Cooks and	300/- p.m.	600/- p.m.
	Cookmates entrusted with the work of preparation of meal, breakfast, etc., for Housemen in addition to normal duty.	225/- p.m.	450/- p.m.
9.4	Health Department		XXXX
	1) Machine Operator	225/- p.m.	450/- p.m.
	2) Asstt. Machine Operator	180/- p.m.	360/- p.m.
	Budget 'G'		
9.5	Deputy Hydraulic Engineer's Deptt. (Operation)		
	1) Attendant	75/- p.m.	150/- p.m.
	2) Cook-cum-Attendant	75/- p.m.	150/- p.m.
9.6	Assistant Engineer Tansa, Vaitarna (Sup.) & Kapurbawadi		
	Medical Officer	1500/- p.m.	3000/- p.m.

Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
0. SPE	CIAL ALLOWANCE - Code No.40		
	Common Categories in Various		
10.1	Hospitals/Mat. Homes/ Dispensaries		
	Sister/Staff Nurse	300/- p.m.	600/ - p.m.
	Those Sister/Staff Nurse who are in receipt of Spl. Allow. for working in various special departments 1) Out patient Department 2) X-Ray Department 3) Oral Deptt. 4) Ophthalmic Deptt. 5) Orthopedic Deptt. 6) Intensive Care Unit. 7) OPD for Orthopedic Centre 8) Labour Operation Theatre	265/- p.m.	530/- p.m.
	9) E.N.T. Operation Theatre 10) Emergency Operation Theatre 11) New Theatres at Nair Hospital 12) Gynaec Deptt. etc.		
	Those Public Health Nurses who are in receipt of Spl.Allow. for giving Lectures.	300/- p.m.	600/- p.m.
	(A) The categories which are in receipt of Spl. Allow./Risk Allow./Cash Handling Allow. etc. for selling the forms and collecting fees from Indoor & Outdoor patients in the Municipal Hosps./ Maternity Homes/Disp. Etc	265/- p.m.	530/- p.m.
	(B) The supervisory personnel who are entrusted with the supervision over the entire system of collection of fees etc.		
	i) Medical Record Officer	300/- p.m.	600/- p.m.
	ii) Officer Incharge, Medical Record	300/- p.m.	600/- p.m.
	iii) Head Clerk	300/- p.m.	600/- p.m.
	iv) Medical Record Technician	265/- p.m.	530/- p.m.
	v) Executive Assistant	265/- p.m.	530/- p.m.
	(C) The person representing the Municipal Dispensary, Maternity Home or Hospital except where the Cash collection is done through C.A.'s or Dy.C.A.(Subs.)'s van and in receipt of Risk Allowance of Rs.25/- for handling cash and preparing remittance slips.	265/- p.m.	530/- p.m.
	further carrying cash to the C.A.'s Accounts Unit.	265/- p.m.	530/- p.m.

Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
10.2	M.C.'s Department		
	Asstt. Municipal Commissioner	1500/- p.m.	3000/- p.m.
	2. Chief Personnel Officer	1500/- p.m.	3000/- p.m.
	3. Jt. Chief Personnel Officer	1425/- p.m.	2850/- p.m.
	4. Administrative Officer (Committee)	1200/- p.m.	2400/- p.m.
	5. Organisation & Method Officer (On M.C's Estt.)	1125/- p.m.	2250/- p.m.
	6. Administrative Officer (MPS Section)	1125/- p.m.	2250/- p.m.
	7. Administrative Officer (MPM Sec.)	1125/- p.m.	2250/- p.m.
	8. P.S. to A.M.C./M.C.	1125/- p.m.	2250/- p.m.
	9. Administrative Officer (Marathi)	1125/- p.m.	2250/- p.m.
	10. Administrative Officer (Hospitals)	1125/- p.m.	2250/- p.m.
	11. Administrative Officer	1015/- p.m.	2030/- p.m.
	12. Administrative Officer (Estt.)	1125/- p.m.	2250/- p.m.
	13. Vigilance Officer	1350/- p.m.	2700/- p.m.
	14. Dy. Vigilance Officer	1015/- p.m.	2030/- p.m.
	15. Asstt. Vigilance Officer	1015/- p.m.	2030/- p.m.
	16. Administrative Officer	1015/- p.m.	2030/- p.m.
	17. P.A. to M.C./A.M.Cs.	1125/- p.m.	2250/- p.m.
	18. P.A. to D.M.Cs.	750/- p.m.	1500/- p.m.
	19. Sr.Steno 'B'	750/- p.m.	1500/- p.m.
10.3	Chief Accountant's Department		
	Test Audit & Vigilance Officer	1500/- p.m.	3000/- p.m.
	2. Dy.Chief Accountant (EsttI) GAD (O.& M.O. Div.)	1500/- p.m.	3000/- p.m.
	Dy.Chief Accountant(EsttII) GAD	1500/- p.m.	3000/- p.m.
	4. Accounts Officer (O & M.O. Div.) GAD	1125/- p.m.	· 2250/- p.m.
	5. Accounts Officer (RG Cell)	1125/- p.m.	2250/- p.m.
	Assessment & Collection Department		
	1. Peon	75/- p.m.	150/- p.m.
-	Garden Department		
	1. Animal Keeper	75/- p.m.	150/- p.m.
	2. Animal Keeper	150/- p.m.	300/- p.m.
	Security Department		
	1. Chief Security Officer	1500/- p.m.	3000/- p.m.
-	2. Jt.Ch.Security Officer	1425/- p.m.	2850/- p.m.
	3. Dy.Ch.Security Officer	1350/- p.m.	2700/- p.m.
	4. Divisional Security Officer	1200/- p.m.	2400/- p.m.
	5. Asstt. Security Officer	975/- p.m.	1950/- p.m.
	6. Security Guards working in Task Force	340/- p.m.	680/- p.m.
	7. Security Guards for working in unhealthy surroundings	75/- p.m.	150/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
10.7	Chief Engineer (S.W.M.)	()	(4)
	1. Depot Attendant	150/- p.m.	300/- p.m.
	2. Mukadam	150/- p.m.	300/- p.m.
	3. Assistant Mukadam	150/- p.m.	300/- p.m.
	4. Labourer	150/- p.m.	300/- p.m.
	5. Pointsman-cum-Security Guard	150/- p.m.	300/- p.m.
	6. Motor Loader	150/- p.m.	300/- p.m.
	7. Scavenger	150/- p.m.	300/- p.m.
10.8	Health Department	100/ p.m.	300/- p.m.
	1. Health Visitor	450/- p.m.	900/- p.m.
	2. Cleaner-cum-Report Bearer	75/- p.m.	150/- p.m.
	3. P.C. Supervisor	300/- p.m.	600/- p.m.
	4. Jt. Ch. P.O.	1425/- p.m.	2850/- p.m.
10.9	L.T.M.G. Hospital	7.1207 p.m.	2030/- p.m.
	1. Hamal	75/- p.m.	150/- p.m.
10.10	Kasturba Hospital	7 37 p.m.	130/- p.m.
	1. Ward Assistant	225/- p.m.	450/- p.m.
	2. Ward Assistant	75/- p.m.	150/- p.m.
	3. Mali	75/- p.m.	150/- p.m.
10.11	H.B.M.G. Hospital	, or p.m.	150/- p.m.
	1. Ward Assistant	75/- p.m.	150/- p.m.
10.12	Dispensaries at Manori & Gorai	, or p.m.	150/- p.m.
	1. Pharmacist	375/- p.m.	750/- p.m.
	2. Pharmacist	525/- p.m.	1050/- p.m.
	3. Dresser	525/- p.m.	1050/- p.m.
	4. Medical Officer	675/- p.m.	1350/- p.m.
	5. Medical Officer	1125/- p.m.	2250/- p.m.
	T.N.M.College/B.Y.L.Nair Hospital	1123/ P.III.	2250/- p.III.
	Laboratory Technician	450/- p.m.	900/- p.m.
	Municipal Secretary's Department	100/ p.m.	2007- p.m.
	Dy.Municipal Secretary	1800/- p.m.	3600/- p.m.
	2) P.S. to Mayor	1500/- p.m.	3000/- p.m.
	3) Asstt. Municipal Secretary (Sr.)	1500/- p.m.	3000/- p.m.
	4) Asstt. Municipal Secretary (Jr.)	1350/- p.m.	2700/- p.m.
	5) P.A. to Chairman S.C./E.C./I.C.	1350/- p.m.	2700/- p.m.
	Chief Officer (Enquiry)'s Department	Joseph Pinni	2700/- p.m.
	1) Chief Officer (Enquiry)	1500/- p.m.	3000/- p.m.
	2) Jt.Chief Officer (Enquiry)	1350/- p.m.	2700/- p.m.
	3) Dy. Chief Officer (Enquiry)	1125/- p.m.	2250/- p.m.
	4) Assistant Chief Officer (Enquiry)	975/- p.m.	1950/- p.m.

Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
10.16	Chief Engineer (C.T.I.& R.C.)		
	1) Chief Engineer	1500/- p.m.	3000/- p.m.
	2) Dy.Chief Engineer	1125/- p.m.	2250/- p.m.
	3) Executive Engineer	675/- p.m.	1350/- p.m.
	4) Assistant Engineer	375/- p.m.	750/- p.m.
	5) Sub Engineer	375/- p.m.	750/- p.m.
	6) Asstt. Engineer (Civil) & (M & E) (Working in Dy.C.A.(Estt.)/GAD's office	825/- p.m.	1650/- p.m.
10.17	Municipal Maternity Homes Div. I, II & III		
	Medical Officer/Lady Doctor/Relieving Lady Doctor.	675/- p.m.	1350/- p.m.
10.18	K.E.M. Hosp./BYL Nair Hosp./ LTMG Hosp.		
	Dy.Dean/ Dy.Dean & Fire Brigade Surgeon	1125/- p.m.	2250/- p.m.
10.19	G.T.B. Hospital		
	Asstt. Medical Officer	675/- p.m.	1350/- p.m.
10.20	Octroi Deptt.		
	1. Superintendent	150/- p.m.	300/- p.m.
10.21	Sardar Vallabhai Patel Swimming Pool, Kandivali		
	1. Filter Operator	200/	
		300/- p.m.	600/- p.m.
10.22	Budget 'E' 1) Head Teacher	450/	
10.22	2) Dy Head Teacher	450/- p.m.	900/- p.m.
	3) Trained Teacher	450/- p.m.	900/- p.m.
7	4) Head Teacher	450/- p.m.	900/- p.m.
	5) Dy.Head Teacher	340/- p.m.	680/- p.m.
	6) Trained Teacher	340/- p.m.	680/- p.m.
	7) Peon	340/- p.m.	680/- p.m.
10.23	Budget 'G' Emergency Repair Cell Water Works		
0.20	Deptt.		
	1) Assistant Engineer	750/- p.m.	1500/
10.24	Sub Engineer Wadala Construction &	730/- p.m.	1500/- p.m.
•	Pumping Stations, Purification Plant		
	(a) The categories in receipt of special allowance of Rs.10/- p.m.	75/- p.m.	150/- p.m.
	(b) The categories in receipt of special allowance of Rs.6/- p.m.	45/- p.m.	90/- p.m.
1. Rifle	Allowance Code No. 41		
1.1	Security Department		
	Security Guard (Armed)	150/- p.m.	300/- p.m.
	2. Head Security Guard (Armed)	150/- p.m.	300/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
12. Pers	sonal Allowance Consolidated - Code No.	45	(4)
12.1	M.S. Department		
	1) Sr. Secretarial Asstt.	525/- p.m.	1050/- p.m.
	Sr.Stenographer-cum-Reporter (Eng. & Marathi)	525/- p.m.	1050/- p.m.
	3) Jr.Secretarial Asstt.	490/- p.m.	980/- p.m.
	4) Jr.Stenographer-c-Reporter (Eng./Mar)	490/- p.m.	980/- p.m.
	5) Executive Assistant	490/- p.m.	980/- p.m.
	6) Sr. Typist	490/- p.m.	980/- p.m.
	7) Typist	490/- p.m.	980/- p.m.
	8) Sub Clerk	490/- p.m.	980/- p.m.
	9) Head Jamadars	450/- p.m.	900/- p.m.
	10) Havildar	450/- p.m.	900/- p.m.
	11) Naik	450/- p.m.	900/- p.m.
	12) Peons	415/- p.m.	830/- p.m.
12.2	M.C.'s Department		
	1) Head Clerk	525/- p.m.	1050/- p.m.
	2) Head Jamadar	450/- p.m.	900/- p.m.
	3) Jamadar	450/- p.m.	900/- p.m.
	4) Havildar	450/- p.m.	900/- p.m.
	5) Naik	450/- p.m.	900/- p.m.
	6) Peon	415/- p.m.	830/- p.m.
	7) Record Assistant (Committee)	490/- p.m.	980/- p.m.
	Chief Officer (Enquiry)'s Deptt.		
-	1) Peon	300/- p.m.	600/- p.m.
	2) Naik	340/- p.m.	680/- p.m.
	ure Allowance # (Code A3)		
13.1	Lecturer/Teaching Staff (K.E.M. Hosp.)	Rs.180/- per hour	Rs.360/- per hour
3.2	Teaching staff (K.E.M. Hosp.)	Rs.180/- per hour	Rs.360/- per hour
	Lecturer/Teaching staff (L.T.M.G. Hosp.)	Rs.180/- per hour	Rs.360/- per hour
	Heads of Deptts. Or their Assistants (B.Y.L. Nair Ch. Hospital)	Rs.180/- per hour	Rs.360/- per hour
	Lecturer/Teaching staff (B.Y.L. Nair Ch. Hosp.)	Rs.180/- per hour	Rs.360/- per hour

Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
14. Hot	Allowance (Code A6)		
14.1	Labourer Asphalt Plant	Rs. 8/- per day	Rs.16/- per day
14.2	Labourer Asphalt Plant	Rs. 8/- per day	Rs.16/- per day
14.3	Labourer staff, Asphalt Plant	Rs. 8/- per day	Rs.16/- per day
14.4	Crematorium Attendant (Electrical crematorium)	Rs. 3/- per day	Rs.6/- per day
	Municipal Foundry		
14.5	Cupola Attendant - I	Rs. 8/- per day	Rs.16/- per day
14.6	Cupola Attendant - II	Rs. 8/- per day	Rs.16/- per day
14.7	Moulder - I	Rs. 8/- per day	Rs.16/- per day
14.8	Moulder - II	Rs. 8/- per day	Rs.16/- per day
14.9	Foreman Foundry	Rs. 8/- per day	Rs.16/- per day
14.10	Senior Pattern Maker	Rs. 8/- per day	Rs.16/- per day
14.11	Pattern Maker - II	Rs. 8/- per day	Rs.16/- per day
14.12	Fettler and Chipper	Rs. 8/- per day	Rs.16/- per day
14.13	Fettler and Chipper II Grade	Rs. 8/- per day	Rs.16/- per day
14.14	Core Builder	Rs. 8/- per day	Rs.16/- per day
14.15	Core Builder - II	Rs. 8/- per day	Rs.16/- per day
14.16	Foundry Assistant	Rs. 8/- per day	Rs.16/- per day
15. Allo	wance for library work (Code A7)		
15.1	Municipal Commissioner's		
	Department		
	1) Head Clerk or Executive Assistant	525/- p.m.	1050/- p.m.
	2) Peon or Naik or Havildar	150/- p.m.	300/- p.m.
15.2	Superintendent of Gardens		
	Jr. Steno	180/- p.m.	360/- p.m.
15.3	E.N.T. Hospital		
	Medical Record Technician	225/- p.m.	450/- p.m.
15.4	Santacruz Hospital		
	Executive Assistant	265/- p.m.	530/- p.m.
16. Allov	wance for work of Repulsive nature - CO		
16.1	Lab Attendant	Rs. 115/- p.m.	230/- p.m.
	Hamal	Rs. 115/- p.m.	230/- p.m.
	Sweeper	Rs. 115/- p.m.	230/- p.m.
	Morgue Attendant II	Rs. 115/- p.m.	230/- p.m.
	Morgue Attendant I	Rs. 115/- p.m.	230/- p.m.
	Animal keeper	Rs. 115/- p.m.	230/- p.m.
	Field worker	Rs. 115/- p.m.	230/- p.m.
	Post mortem attendant	Rs. 115/- p.m.	230/- p.m.
	Servant	Rs. 115/- p.m.	230/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
17. Me	ssing Charges - CODE NO. C7		
17.1	Staff Nurse	Rs. 525/- p.m.	1050/- p.m.
	Auxiliary Nurse	Rs. 525/- p.m.	1050/- p.m.
	Matron	Rs. 525/- p.m.	1050/- p.m.
	Matron II	Rs. 525/- p.m.	1050/- p.m.
	Principal	Rs. 525/- p.m.	1050/- p.m.
	Typist	Rs. 525/- p.m.	1050/- p.m.
	Health Visitor	Rs. 525/- p.m.	1050/- p.m.
	Sr. Auxiliary Nurse	Rs. 525/- p.m.	1050/- p.m.
	Sr. Assistant Matron	Rs. 525/- p.m.	1050/- p.m.
	Sister Tutor	Rs. 525/- p.m.	1050/- p.m.
	Jr. Assistant Matron	Rs. 525/- p.m.	1050/- p.m.
	House keeper	Rs. 525/- p.m.	1050/- p.m.
	Public Health NU	Rs. 525/- p.m.	1050/- p.m.
	Sister	Rs. 525/- p.m.	1050/- p.m.
	Theatre Supdt.	Rs. 525/- p.m.	1050/- p.m.
	Sister In charge SCL.C	Rs. 525/- p.m.	1050/- p.m.
	Nurse	Rs. 525/- p.m.	1050/- p.m.
	Driver	Rs. 525/- p.m.	1050/- p.m.
18. HA	RDSHIP ALLOWANCE - CODE NO. (1050/- p.m.
18.1	Municipal Chief Auditor's Department		
	1) Audit Officer	750/- p.m.	1500/- p.m.
	2) Sr. Audit Assistant	450/- p.m.	900/- p.m.
	3) Jr. Audit Assistant	300/- p.m.	600/- p.m.
	vn Allowance – Code No.F 2		
19.1	<u>Legal Department</u>		
	1) Law Officer	150/- p.m.	300/- p.m.
	2) Dy.Law Officer	150/- p.m.	300/- p.m.
	3) Assistant Law Officer	150/- p.m.	300/- p.m.
	ching Allowance – (Code No.G 5)		
20.1	Male employees who are in receipt of Uniform Allowance	225 per pair of Uniform once in two years	450 per pair of Uniform once in two years
	2. Female employees who are in receipt	75 per blouse once in two	150 per blouse once in two
	of Uniform Allowance	years	years
21. Tun	nel Allowance – (Code No.H 1)	yours	years
21.1	Jr.Engineer/Sub Engineer	450/- p.m.	900/- p.m.
	Asstt. Engineer	600/- p.m.	1200/- p.m.
	Ex. Engineer	900/- p.m.	1800/- p.m.
	Foreman / Mukadam	300/- p.m.	600/- p.m.
	IGN ALLOWANCE-(Code No.H2)	500/2 p.m.	000/- p.m.
2. DES	(Code Hollie)		
		450/- n m	000/
2. DES 2.1	Sub Engineer	450/- p.m.	900/- p.m.
		450/- p.m. 450/- p.m. 600/- p.m.	900/- p.m. 900/- p.m. 1200/- p.m.



Sr. No.	Categories	Existing Rate of Allowance (Rs.)	Revised Rate of Allowance (Rs.)
(1)	(2)	(3)	(4)
	cial Allowance Infectious disease Hospita		
23.1	Medical Officers	300/- p.m.	600/- p.m.
	Kasturba Hospital		
	G.T.B. Hospital		
	Acworth Leprosy Hosp.		AND AND TO SHEET WITH THE SHEET WITH
24. Out	of Pocket Allowance For Scout and Gui	de Activities_ Budget 'E' _	Code H5
24.1	Scout Guide Teacher	375/- p.m.	750/- p.m.
	2. Sub Centre Incharge	115/- p.m.	230/- p.m.
	District Scout Master/Guide Capton	375/- p.m.	750/- p.m.
	4. District Organizer	450/- p.m.	900/- p.m.
	5. Asstt. Commissioner (Scout/Guide)	600/- p.m.	1200/- p.m.
	7. 7155tt. Commissioner (Scout Guide)	000/- p.m.	1200/- p.m.
	6. Road Safety Patrol	1800/- p.a.	3600/- p.a.
	solidated Special Allowance - Code H4		
25.1	Designation Code	Revised	Academic Services of the services
	1. Chief Fire Officer	5000/- p.m.	10000/- p.m.
	2. Jt. Chief Fire Officer	4500/- p.m.	9000/- p.m.
	3. Dy. Chief Fire Officer	4000/- p.m.	8000/- p.m.
	4. Other Officers	Station officer 2500/- p.m.	Station officer 5000/- p.m
		Div.F.O. 3500/- p.m.	Div.F.O. 7000/- p.m.
		Asstt. Div.F.O. 3500/- p.m.	Asstt. Div.F.O. 7000/- p.n
		Asstt.Div.O. 3500/- p.m.	Asstt.Div.O. 7000/- p.m.
	Risk Pay		
	Fireman/F.AH.	Rs.500/- p.m.	Rs.1000/- p.m.
	Driver Operator	Rs.500/- p.m.	Rs.1000/- p.m.
	Leading Fireman	Rs.500/- p.m.	Rs.1000/- p.m.
	Sub-Officer	Rs.500/- p.m.	Rs.1000/- p.m.
	Asstt./Station Officer	Rs.500/- p.m.	Rs.1000/- p.m.
	Asstt.St.Off.(Wireless)	Rs.500/- p.m.	Rs.1000/- p.m.
26. Spec	cial Allowance (Reimbursement of Resid	ential/Mobile telephone bill	s (Code - S8 RTA)
26.1	Municipal Commissioner's Department		
	To Sr.P.A./P.A. working in the office of Hon.M.C./A.M.C./Jt.M.C./D.M.C.	500/- per month	1000/- p.m.
27.1	Disaster Management - Special Allowance - Code 40		
	1.Chief Officer (DMP & CCRS)	1500/- p,m.	3000/- p.m.
	2.Dy. Chief Officer (DMP & CCRS & Liaisan)	1015/- p.m.	2030/- p.m.
	3.Shift Incharge	700/- p.m.	1400/- p.m.
	4. Assistant Shift Incharge	600/- p.m.	1200/- p.m.
	5.Computer Operator (Control Cell)	500/- p.m.	1000/- p.m.
	6. Wireless Set and Telephone Operator	500/- p.m.	1000/- p.m.
	7.Complaint Officer	375/- p.m.	750/- p.m.
28	Warden Allowance	2757 p.m.	730/- p.III.
			 In the control of the c

